AU Y 1T alad) 300 Aoy giall Balgdd) cililatia) Ald) el g 4 3l 305 g

Y odT Jgead Y4 daand) Ay Al dalal) Ay puaal)
dtan )l clilasiaY) 5 il
:(mﬂ‘f\ Ql,.u'al,uﬂ 3ala g.3| ai,il.u.a diad s Hlasall 22s

128 Olis L saall

) eyl il sheal) () 3 el ALE e dpads AT Jlaxindy grans -1 dale il )
sl 5 3 ) g Jilesal) i il V1 0 50 Ay 630 i 500 Ay e pall ki -

(Ohade) |
:C 5B s A4l slacy) el

5x102x7 x10° 1 7 5
.C=445-45+3J125 5 B= ¢A= 42"
J_ ? 2 x10’ 3 6 3

A Lplaad) Silalard) JowaldT JS i

B sea ol 8 S (K3 e Gl sadl Gl A Gl ()
Agalall 3 guall e (il sall (i€l 5 B ol (¥
b g ol dua a5 sl e C i (¥

(Sl ¥) 1|

e (Y 3 () O Y ped)
sl ad e Jal) Ja s 400 dadida ()
4x—§£§x+3
2 2

(b LS de 5 sa daala 53,5 400 o s sing (53 (¥
e o Gl Slleda (5.9 30 o
lxad a0 108 e
slay A <l S Sh e
o) pmd) el KU Ay giall Al ol -
elanll Gl SN aae a_u;\ -

(cleds ¥) |1

E(X) = 5(x — 1)(X + 2) — (X + 2)* + 3(X + 5) : b

E(X) =43 +4x+ 1 of g ()

E(x) =1 altadl Oa (¥

JH(X) = 9x2 —(2x +1)° il (¥
HX) = (5x + 1)(x — 1) of e -
H(x) =0 Aaladl Ja —



(Clde 1) -1V
A (0; — 2) bkl Iy y = 2x + 3 slaall 33 () asicaad) 330 (X'OX , Y'OY) Y (5 siunall
.G (0;3) 5 E(6; 1)
(Y sl 4G 5 E A Blall g ()
(d) e 25 (d) pisdl) e a8 G Adaiill ) 3is (Y
(AE) asisal dalra & y:%x_z ol - (7
Olaalaia (AE) 5 (d) opasiived) O 0 33 -
(AE) 3 (d) Coesiundl £1al A0k 8 B(2; — 1) o T a3 ¢
OBl (5 glutia g 4y 5) 1 2B GBE bl o) g8 g -2
.BG 4xiall 53 a8 E ddadil) (las) )M Akl ey (€

2200 2 BEMG =U)) of o 5 -

BM sl -
L (©lde 1)V
- sdiiall a ) 2
AB =10 cm W kis O S 300 8 (C) o
B kil & (C) sl (ulas 8 (d) aficel) @
BL=7.5cm ol ¢us (d) e ddaii L oS3 o
A - B .AM=4chi&g>[AB]‘_AcMI\/IQSﬂ °
B gall Feil ()
(©) AL Jsb el (Y
“ .COSBAL <l (¥
E 4kl (C) 3,00 ae (AL) piiesell adality (¢

ALl Lo ST il BEL 5 ABL oiiliall of oy -
EL = 4.5 cm o i -
8 () ptiosall o ool LS (N Al A [AL] o @bliy (AL) o 2liall y M Ay Jlall sitosdl) (0
G adail
AN =3.2 cm of Sl MAN &bid) 8 cos BAL pasiul -

=SB o
‘NG 31 T



ULl YN ale By ga Ao gial) Balgdd) el antaill g A 3l 31 39
M!JQ&A&JJ&A Ay it dalad) Ay puaal)
dan ) cililataY) 5 il

Question |
Part Correction Note
1 |a=i,r.5 t 73 1,7 38t 0.25 +0.25 0.50
3 6 3 365 310 30
-2 5 3 4
B=_ 5 %107 x 77><10 _ 35><107 =35><10 _175x10% = 1.75x10° 0.75
2 2 x10 2 x10 2
0.25 +0.25+0.25
3 C= J45-45+3125 =35-45+15{5=145. 0.5+0.25 0.75
Question 11
1
4x—§§§x+3 ; 8—X—§35—X+§;8x—335x+6;8x—5x33+6;3x39 ; 1
2 2 2 2 2 2
<3. 0.25+0.25+0.25 +0. X
x<3. 0.25+0.25+0.25 +0.25 (.P 3 N 0.5
2.8 . 108
The percentage of green balls is : 200 x100=27% 0.5
- The percentage of white balls is: 100—(27 +30) =100-57 = 43% 0.5
The number of white balls is: 22490 _17, 0.5
Question 111
1 E(X) = 5(x°+ X — 2) — (X+ 4x + 4) + 3x + 15 = 4x°+ 4x + 1. - 0.25 (MISTAKE) 1
2 E(x) = 150 4x™+ 4x = 0. where 4x(x + 1) =0; x =0 or x = —1. 0.25 +0.25 0.5
3.a H(X) = 9x° — (2x + 1)° = (3x + 2x + 1)(3x —2x — 1) = (x — 1)(5x + 1).). 0.5 +0.5 1
3.b
H(x)=0;(x-1)(bx+1).=0.So x=1o0orx = —% 0.5
Question 1V
1 ¥ M
(&
P 0.5
2 _ _ 05
Yo =—2Xg +3 then 3=-2(0)+3 o1 o
3=3s0Gisapointon (d) Two points are enough to draw a line : y |31 :
1 1 1 1
3.a yE:EXE—Z 125(6)—2 yA:EXA—Z —225(0)—2 05
1=1 so E is a point on (AE). —2=-2 so Alisapoint on (AE). 05
1
3b Ay XA (ag) = —ZXE =—1 So (d) L (AE). 05




1 Yg =—2Xg +3

Vg =—Xg—2
22" ~1=-2(2)+3 05
3¢ —1=1(2)—2 —1=—1 so B is a point on (d).
2 0.25
—1=-1 so B is a point on (AE).
3d GBE =90° (since (d) 1 (AE)) 0.25
BG = 2.5. 0.25
BE =245. 8-32
So GBE is a right isosceles triangle of vertex B. '
42 We have: BG = EM so BEMG is a parallelogram 0.25
And since : GBE =90° then it is a rectangle 8;2
and: BG = BE so it is a rhombus.therefore: BEMG is a square. '
4b
BM =GE = \/(6 — O)2 + (1—3)2 =36+ 4 = /40 = 2/10 u (diagonals in a square are 0.5
equal)
Question V
0.5
1
2 Using pythagorean :
AL’ = AB?+BL’=100 + 7.5* = 525 so: AL =12.5cm 0.5
4 0.25
3 cosBAL = AB_10 _4 0.5+0.25 05
AL 125 5
4.a The two triangles ABL and LBE have:
e L (common angle ) 0.5
e B=E=90°(ABE is an inscribed triangle in a semi-circle) 05
So they are similar. 0'5
e AB_BL_AL_125_5 |
"'"BE EL BL 75 3
4b Consider BL_S ; 75 :E; EL =4.5cm 832
EL 3 EL 3 :
>a cos BAL:Eand cos BAL =cos NAM :ﬂ:E so AN =3.2cm 832
5 AM 5 -
0.5
5b (EB)//(NG) Using Thales’ LE_EB_45 D (LN=125-3.2=9.3cm) 06255
LN NG 93 31 0 -25
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